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JE O R 2 1 112, 406, 235
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& PR %+ T (ICT) m3 370 134, 273 | B&PRR% L (ICT) 1 =
EEEEIE T (ICT) = 1 653, 376 | IEHEZETE (U)L%F) (ICT) 30 m2
VI L W R O Rt
EHEEETE (% 5) (ICT) 1, 150 m2
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HEE L = 1 31, 374
REVEITUE L T = 1 16,508 |2/7)-MEEYEUE L 2 m3
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AZIEE P =X 1,905,000 | AZi@FE LA B 1 ey
[P % X 112, 406, 235
Hm IR E 2V 16, 852, 140
e Tre: 2V 5,792, 140

R 20 2,885,870 | HEEERBRAR o fFAH N ik A 1 20

R AA SE 2 1 X

i 2 2V 682,270 |fikA 1 =

Bl s X 1, 146, 000 |YA7AFIHAZE (ICT) 1 X
BUGBREIUEL (REH L) 2V 1,078, 000
sty (R L) 2V 11, 060, 000
ol T X 129, 258, 375
TR e gL 2V 39, 087, 000
T AT X 170, 740, 734
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N 2V 197, 990, 000
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A - SAE (ST BG L) 50 m
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